O 1B K E AR R

AT H . Rk264E5 H 23 A

TR IR K HHE  pH bi=n DO DO COD  RAZBERERL KA,
(m) =5 (m) (‘C (mg/L) (%) (mg/1) MPN/100m1

St.1 9:12 0 = 5.0 8.2 9.5 32 10. 1 107.5 3.2 7.8 0.7 9.3 0.2 7 4-V V5

E= 5 10 8.2 9.5  33. 10. 1 107.7 7.4 9.4 0.4 6.6 0.2

10 8.2 9.5  33. 10.0 106. 8 3.5 5.0 0.2 6.4 0.2

(27m) B-1 8. 2 8.2  32. 11.4 118.0 2.7 5.3 0.3 6.4 0.3
St.?2 8:50 0 = 5.0 8.2 9.0 35. 11.0 115. 4 4.1 6.9 0.7 9.1 0.2 7=V 5

TR 5 10 8.2 9.3  32. 10.5 111.4 6.6 6.8 0.5 9.1 0.2

10 8.2 9.1 32. 10. 4 109. 4 1.9 1.3 0.2 6.8 0.2

(25m) B-1 8.1 5.7 32 10. 8 105.4 13.9 19. 2 1.3 23. 2 0.3
St.3 9:58 0 = 4.5 8.1 9.2  32. 10.0 105.7 4.8 35. 7 0.7 9.2 0.2 74—V V5

b Iy 2.5 9 8.2 8.8  32. 10. 3 108. 5 4,4 9.1 0.4 6.4 —

5 8. 2 8.9  32. 10.3 108.7 8.2 8.1 0.7 8.5 0.3

10 8.2 9.0  32. 10. 4 109. 7 7.8 6. 4 0.2 6.9 0.3

(25m) B-1 8. 2 7.9 392 10.3 106.4  18.7 17. 1 1.6 6. 4 0.6
St.4 9:38 0 5.5 8.1 9.3  32. 10.7 113.0 1.9 3.1 0.5 6.5 0.2 7=V V6

TEAR 2.5 8.1 9.3 32 10.5 111.3 1.8 1.9 0.3 5.0 -

5 8. 2 9.4  32. 10. 4 110.7 1.4 1.8 0.3 4.6 0.2

10 8.2 9.4 33, 10. 1 107.6 1.3 4.6 0.3 5.0 0.2

(25m) B-1 8.1 9.1 33. 10. 1 106. 8 2.5 7.1 0.6 8.0 0.2
St.5 12:00 0 E 4.0 8.1 10.1  31. 10.6 113.5 2.4 12. 1 1.0 20.9 0.5 7 H—b V6

K 2.5 2 8.2 8.8  32. 11.0 114.7 4.0 3.5 0.9 10.6 -

5 8. 2 8.6  32. 11.1 116.0 2.5 3.5 0.4 6.8 0.5

(8m) B-1 8.2 8.3 32. 11.0 113.8 5.6 3.1 0.9 7.0 0.3
St.6 11:05 0 3.0 8.1 9.7 32 10.3 109.9 4.6 5.1 1.1 12.7 0.2 TH=UIT

A HERTHE 1 8.1 9.6  32. 10.5 111.4 3.6 7.6 0.9 8.3 0.3

5 8. 2 8.3  32. 11.5 119. 4 2.4 1.3 0.4 4.4 0.3

(7m) B-1 8. 2 8.1 32. 11.3 116.5 1.5 7.8 0.4 6.7 0.3
St.7 12:11 0 i 4.0 8.2 10.3  31. 10.8 115.9 5.9 24. 0 2.1 47.3 0.3 7=V V6

i 1 4 8.2 10.2  31. 11.1 117.9 7.2 12.5 2.0 41.0 0.2

5 8.2 8.2  32. 11.4 117.7 3.0 3.1 0.7 8.0 0.2

(6.5m) B-1 8. 2 7.5 392 10. 8 110.3 5.3 5.8 0.8 9.8 0.2
St.8 10:13 0 = 4.0 8.1 9.6  32. 9.9 104. 7 8.2 26.5 0.8 8.9 0.5 74—V V5

S 2.5 8 8.2 9.0  32. 10.3 107.9 7.8 17.3 0.6 9.4 -

5 8. 2 8.5  32. 10.5 109. 4 9.4 10. 1 0.5 6.4 0.5

10 8.2 8.8  32. 10. 1 106. 0 8.8 25.9 0.4 7.6 0.2

(20m) B-1 8. 2 8.2  32. 10.5 108. 7 9.1 9.0 1.0 8.1 0.5
St.9 10:40 0 4.5 8. 1 10.1  31. 10.6 113.3 3.1 11.2 0.6 5.4 0.6 7=V V6

FARX Yo7 2.5 8. 2 9.3  32. 11.2 118.6 1.8 4.3 0.8 5.3 -

5 8. 2 8.5 32. 11.6 121.0 3.9 2.0 0.3 4.7 0.6

10 8. 2 8.6  32. 10.9 113.9 5.0 16.3 0.5 7.9 0.5

(20m) B-1 8.2 7.9  392. 10. 4 107. 4 9.1 10. 4 1.2 6.6 0.2
137 (A) 11:28 0 3.0 8.1 10.5  31. 10. 2 109. 4 3.7 10. 2 1.6 13.6 0.3 TA=bIvT

5 — — — _ _ _ _ — —

(7m) B-1 8.1 .7 39 10. 107.5 5.3 3.9 1.2 4.9 0.3
K (B) 11:41 0 4.0 8.2 .1 3l. 10.7 113.8 3.2 7.4 0.9 16.0 0.2 74=VIV5

5 8.2 .4 32, 11.5 118.8 2.5 3.3 0.5 6.0 0.3

(12m) B-1 8. 2 .0 392 11.0 112.9 5.8 4.0 0.9 6.3 0.2




